

Corporate Finance
June 2024 Examination

1)  Sanjana decides to invest in a Recurring Deposit at the rate of Rs. 2,000 per year for 5 years and at Rs. 3000 per year for next 10 years. What shall be the value of her investment at the end of 15 years, if the rate of interest is 10%?

If she wants to receive a lumpsum payment of Rs. 1,00,000 at the end of 15 years, what should be the sum invested each year for 15 years at the same interest rate?

Calculate showing formula and detailed working. Amounts may be rounded off to nearest rupee.  (10 marks)

Ans 1.

Introduction 

When it comes to personal financial planning, investing in recurring deposits (RDs) stands out as a preferred strategy for individuals seeking a disciplined and secure way to save while earning interest. This method not only encourages regular savings but also offers a return on the accumulated amount, making it a popular choice among risk-averse investors. In the given scenario, Sanjana's decision to invest in an RD at varying annual rates over a period of 15 years, underlines a strategic approach to achieving her financial goals. The essence of calculating the future value of her investment and determining the requisite annual investment to achieve a specific lumpsum illustrates the practical application of compound It is only half solved
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2) Atharva Textiles is suffering from declining profits, one of the key reasons for which has been pointed out as Inventory Management. The following details are collated by the Finance Manager: Purchase price per unit is Rs. 1000.

Cost incurred at the time of each order is Rs. 600. The no. of orders placed in a year are 30. The firm incurs a cost of 5% to carry Inventory cost. Average inventory held 2,500 units. Determine the current Total Inventory Cost.

Also advise what should be the Optimum Order quantity to minimize the cost, if the annual demand for the enterprise is 1,65,000 units. What shall be the Total Inventory Cost at that level? (10 marks)

Ans 2.

Introduction

Atharva Textiles is navigating through turbulent waters marked by declining profits, primarily attributed to inefficiencies in inventory management. Inventory management, a critical aspect of operations for manufacturing and retail businesses, involves a careful balance between order quantities, holding costs, and order costs to ensure the availability of products while minimizing expenses. In the case of Atharva Textiles, a comprehensive analysis of the current total inventory cost is essential to identify the root causes of the financial strain. By scrutinizing 
3a)  Priya Industries sells their products at Rs. 80 per unit. They incur a Variable cost of Rs. 45 to make the product. Annual credit sales of Priya Limited is 50,000 units. They give a month’s credit and have a closing debtor balance of Rs. 3,00,000. The Finance manager decides to increase the credit period from existing 30 days to 45 days. They have an increase in sales quantity by 10% with the closing debtors balance going up to Rs. 4,24,000. Cost of funds for the firm is 20%. Calculate the investment in additional receivables.

What should be the considerations to assess the effectiveness of the additional credit period? Should Priya Industries continue with the relaxed credit or reinstate it to 30 days?  (5 marks)

Ans 3a.
Introduction: 

In an ever-evolving business landscape, managing credit terms is critical for financial stability and growth. Priya Industries, operating in a competitive market, faces the decision of extending its credit period to enhance sales. This analysis delves into the implications of such a move, considering factors like increased sales, investment in receivables, cost of funds, and customer satisfaction. Through this examination, we aim to provide insights into the 
b)  A firm sells 2000 baskets at Rs. 100 each. The Basket has a making charge of Rs. 50 each and a fixed operating cost of manufacture of Rs. 50,000/year. Calculate the Contribution and DOL. Also show the impact if SP increases by 50% on the contribution and DOL. What does the change in DOL signify?   (5marks)

Ans 3b.
Introduction

The Degree of Operating Leverage (DOL) is a financial metric that helps determine a company's earning potential and its sensitivity to changes in sales volume, reflecting on the company's fixed and variable costs. In analyzing the financial health and operational leverage of a firm selling baskets, we calculate the contribution margin and DOL to understand how 
